Fall '09/MAT 140/Worksheet 5 Name: f;ci.’._fim Show all your work.

(dpts) Find the equation of the line (in form y = maz + b) that passes through points
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2. (7pts) Find the equation of the line (in form y = ma + b) that is perpendicular to the
line 3x + 5y = 6, and passes through the z-intercept of that line. Draw both lines.
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3. (3pts) Let f(z) = %

. Write the domain of this function in interval notation.
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4, (Tpts) Use the graph of the function f

at right to answer the following questions.

a) What is the domain of f7 C—‘EI s) 2

b) What is the range of f?  [-4 -2)ull 4]
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c)
d) What are the solutions 5 -2
of the equation f(x) =27 K T=3 o) U

e) Find intervals where f(z) < 0. 4
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5. (dpts) If g(z) = 2® — 5z + 7, find g(z + 3) — gz + h).
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6. (5pts) a) Draw a picture of any circle that is tangent to both 2 and y axes and write the
equation of the circle.
b} Find the equation of the circle that is tangent to both the x and the y axis, and whose

center lies on the line y = —22x — 6. Draw a picture.
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